Simplify each polynomial expression

1.

11.

(z* — 222) + (4o + 82*) + (Tz® — 5z*)

(—22% — x) — (—62% + x) — (82 + 42?)

(3m2 — 5m3) — (—2:172 — 6m3) — (—8m2 — 5:173)

(82 — 2z%) — (=62 — 2x) + (52t + 2z)

(—=3z + 32%) — (=2 — 622) + (7 + z?)

(6 + 7z) + (—2z + 723) — (8 + 6z)

2. (—=32? —4x) — (222 +4) + (2z +5)

4. (4+az*) + (—22* +3) + (32* +8)

6. (42® + 4z%) + (52% — 82?) — (822 — 3z)

8. (3z+3z*) + (5 — T2t) + (52 + 8x)

10. (—4x + 52%) + (=222 + 621) + (82" + 32?)

12. (2+ 72%) — (62® — 5at) + (-4 — 23)



